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(a) Loans must be given to below poverty line

women at the rate of Rs. 1,000/- per woman LL.B. DEGREE EXAMINATION, -
without insisting on any security, NOVEMBER/DECEMBER 2010.

(b) That the bank to charge a nominal interest Fifth Semester
of one percent per annum on such loans, and

() Such unpaid loans to be debitea to tne Paper V— LAW OF BANKING — Elective
account holders of the bank holding more Timn ‘ ; ]
than Rs. 1,00,000/- in their account. ICICI Time : Three hours Maximum : 100 marks
Bank wants to challenge the RBI circular.

Advise the ICICI Bank. PART A — (6 x 4 = 24 marks)

Answer any SIX questions.

Write short note on the following :
Garnishee order.

Holder for value.

Sans Recourse Endorsement.
Hundi.

Adcount Payee Crossing.
Banking Business.
Partnership Account.

Bill of Lading.

Negotiation.
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Recurring Deposit.
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PART B — (2 x 18 = 36 marks)
Answer any TWO questions.

All questions carry equal marks.

What precautions are to be taken by a Banker

while opening

(a) Trust’s Account
(b) Minor’s Account

(¢) Company’s Account?

Explain how the Reserve Bank of India exercises

control over banks and other financial institutions
under the Reserve Bank of India Act?

Define a Banking Company and outline the steps
for commencing a Banking Company and the

procedure for winding up of a Banking Company.

Identify two short comings of Banking Law in
India Today and suggest legislative reforms for

removing those short comings.
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16.
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PART C — (2 x 20 = 40 marks)
Answer any TWO questions.

All questions carry equal marks.

‘A’ gave A cheque to ‘B’ for Rs. 10,000/- drawn on
Govinda Bank. When the cheque was presented
for payment, it was returned with an endorsement
by the bank “Insufficient Funds”. As a matter of
fact, the bank clerk did not see the Account of ‘A’
correctly and committed a mistake. ‘A’ field a case
against Govinda for Rs. 10,00,000/- As damages for
wrongful dishonour of cheque Is Govinda Bank
Liable?

Prasad opened an account (Savings Account) with
SBI in order to take a safe deposit locker. The
account was not operated at all later on though the
safe deposit locker was operated on many
occasions by prasad. SBI announced a Diwali
Bonanza Gift Scheme to its customers. Prasad
claimed the gift. SBI refuses to give the gift on the
ground of non—operation of savings account and
hence prasad is not a customer. Decide.

Agarwal gave toshniwal a crossed cheque for Rs.
1,00,000/-. ToShniwal presented the cheque on
first of april accross the counter. The bank clerk in
view of many customers in que, paid Rs. 1,00,000/-
in cash to Toshniwal accross the counter. Discuss
the liability of the bank and bank’s clerk. Would
your answer be different if the cheque cost by
Toshniwal is presented by Roshanlal as

Toshniwal?
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